Name: \ )/L Period:

2.3 Practice Problems
Analyze each graph.

1.£1.57) ={

f(0) =0

xiff(x)=-1 X=-1:57
Domain ¥é&

Range Y& [-1,17]
Zero(s) i1, ©, T \

Is it a function? VY¢S

Intervals of Increasing (-1.57,1,57)

Intervals of Decreasing  [-Ti, =1.57)y (1.577)
Relative Minimum(s) (-I. 57 -“1) ¢

Relative Maximum(s) (1.5 '? )
Isitevenorodd? o

[s it one-to-one? N 0

1.601) vudefind

f(1) =2

xiff(x)=4 X=|
Domam‘&(’-fhp NV, B o)
Range E: (-g() )

Zero(s) x, -1,7

Is it a function? Y.w

Intervals of Increasing (-4J -Nu(13)
Intervals of Decreasing (% .0-9)
Relative Minimum(s) ( |, 9.)
Relative Maximum(s) (% 2)
Isitevenorodd? Ao pf

Is it one-to-one? N{,Pﬂ

1.£(0) =
f(-2) ~o

xiff(x)=4 W= ", 10 a1

Domain X ¢ (T l

Range [ -&,1, o0)

Zero(s) X--1 -1 1

Isita function? v,< ‘

Intervals of Increasing C-1.5 0)u(l 5, 00)
Intervals of Decreasing ( - -1, 5') v {9, 1 5)
Relative Minimum(s) ( =/ ﬁ‘ -2.0), C15.-2. 1
Relative Maximum(s) (0 q)

Isitevenorodd? EViy

Is it one-to-one? -
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4, Write the linear function given f(-3) = 4 and f(4) = -11. /

e - el )15 (2 4 2Y
Mm = h: 77- FCZ).)»- -’:}-*(3)-?5 Y

5. Write the linear function given f(4) =-5and f(-1) = 2 -246 »
‘é—-‘"; ;'1 ‘F["’n 7(“()+b"* \5

Y--|
6. Find the x-intercepts of f(x) = 3x2 - 19x -14 without a graphing calculator.
Finzo =3x 4y - 1
(=0 =Fx ~4x -1 R B X x-7) 2
ot s | =1l %
3xLx =7) + 2(%7)
7. Find the zeros of f(x) = —— w1thout a graphmg calculator.
Ax-%<

D%q )(:/5/1« (— %/0)

-3x+2, x<2 4, X <=2
9. Alx)=41 10. A(xX)=4x*, =-2<x<2
—x-4 x>2
2 4, x22
— - .
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3x+12, x<-3 x*-4, x<3
11, g(x)=1|«|, -3«<x<3 12. A(x)=12
_3x+12 x23 | ¥~ x23
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